sui(3w( g)ouapy — 3 (x)louawy)Sop = (A) f sui(3( g)oua ) — 3 (x)louawy)Sop = (A) f sui(“30( g)oua ) — 5 (x)louawy)Sop = (A) f

Y
Y

1000;X >Y
-1000; X <Y
1000;X >Y
-1000;X <Y
1000; X >Y
- 10
FO0;X=
-1000; X <Y

- 10

8 - Path 1280 (no PMTUD) 2 - Path 1280 (no PMTUD) g h 1280 (no PMTUD)
g - 1280 (no PMTUD) g M [ 1280 (no PMTUD) g 1280 (no PMTUD)
3 - 1280 (PMTUD) 3 [ 1280 (PMTUD) 3 1280 (PMTUD)
km - 1500 km =+ 1500 km 1500
[S] [} [}
oy - Path 1280 (no PMTUD) oo 0 | Path 1280 (no PMTUD) T o h 1280 (no PMTUD)
L@ - 1280 (no PMTUD) @& I - 1280 (no PMTUD) P F 1280 (no PMTUD)
< - 1280 (PMTUD) < 3 M [ 1280 (PMTUD) R% 1280 (PMTUD)
ag - 1500 ag W 1500 ajg 1500
o - Path 1280 §o PMTUD) o W  Path 1280 §o PMTUD) o h 1280 (no PMTUD)
2 - 1280 (no PMTUD) B ¥ [+ 1280 (no PMTUD) B 1280 (no PMTUD)
= g - 1280 (PMTUD) 2 I 1280 (PMTUD) g 1280 (PMTUD)
+ 8 L 1500 r B8 = [ 1500 g 1500
o ]
£ g - Path 1280 §o PMTUD) 5 & [ [ Path 1280 (no PMTUD) g ath 1280 (no PMTUD)
o ¥ - 1280 (no PMTUD) - 3 WM |- 1280 (no PMTUD) § 280 (no PMTUD)
C & - 1280 (PMTUD) £ g [ MW [ 1280 (PMTUD) 3 280 (PMTUD)
€ 3 - 1500 o 3 oW 1500 a 500
[ R w |
O - Path 1280 (no PMTUD) o8 Emem - Path 1280 (no PMTUD) © 9 th 1280 (no PMTUD)
- - 1280 (no PMTUD) T WM [ 1280 (no PMTUD) i 280 (no PMTUD)
o g - 1280 (PMTUD) =3 M 1280 (PMTUD) == g 280 (PMTUD)
£ - 1500 Z Emmm - 1500 - 500
c o
5 o - Path 1280 §o PMTUD) £ o - Path 1280 50 PMTUD) 2 o ath 1280 (no PMTUD)
T 2 1280 (no PMTUD) c 9 - 1280 (no PMTUD) o 9 1280 (no PMTUD)
= g 1280 (PMTUD) 5 g U | 1280 (PMTUD) O g 1280 (PMTUD)
o 3 1500 5 8 - 1500 m 5 1500
w -
8 a no 8 B[ Pa no 8 - Pa no
% Path 1280 PMTUD O Path 1280 PMTUD A_._w Path 1280 PMTUD
2 ¢ 280 (no PMTUD) W og m [ 1280 (no PMTUD) = S L 1280 (no PMTUD)
o 9 280 (PMTUD) » 8 M [ 1280 (PMTUD) o 9 - 1280 (PMTUD)
- O 500 Z & W 1500 c & - 1500
u [ w = w
S+ Path 1280 (no PMTUD) w4 o m [ Path 1280 (no PMTUD) €. L Path 1280 (no PMTUD)
- 280 (no PMTUD) =P M - 1280 (no PMTUD) 2z ¢ - 1280 (no PMTUD)
== 9 280 (PMTUD) E i M [ 1280 (PMTUD) 0= G - 1280 (PMTUD)
- 500 - | 1500 o & - 1500
Q Q Q
c o Path 1280 §o PMTUD) € EEEN EEEN EEEE EEEE | BEEE =N - Path 1280 (no PMTUD) c o - Path 1280 (no PMTUD)
h @ 280 M:o PMTUD) h o HEEE [ [ 1] - 1280 Mao PMTUD) —m o - 1280 M:o PMTUD)
o~ g 280 (PMTUD) - 2 RN [ 1 ]| AN EEEN | EEEE =N - 1280 (PMTUD) ~ gz - 1280 (PMTUD)
I 8 500 = 8 | EEE | 1| ] - 1500 I ¢ - 1500
N—muo.wzom Nmm__v“mwzow wmov”mwzow N—m”o.wzow NmN_tmmZn_w mmov“mwzow Nrm“o.wzom Nwwﬁ“o.wzow mmov“mmzom Nrm“o.wzom anﬁ“c.wzow mmov“mmzom N_vm”o.mzow NMN_—“men_m mmov”o.wzow Nrm“o.wzow NmN_—”meDw mmoﬁmwzn_m Nrm“o.wzow NmN_tmen_w mmcv“mmzn_m N—muo.wzom Nmm__v“mwzow wmov”mwzow N—m”o.wzow NmN_tmmZn_w mmov“mwzow

PAdI 9AdI 3oelS-leng PAdI 9AdI 3oelS-fena PAdI 9NdI MoeIS-fend



